Bank of Baroda Clerical Exam Sample Question Paper

Quantitative Aptitude Section

3. 1-5. What should come in place of question mark
{7} in the following questions?
1. 92.5% of 550 =7

(1) 50645 (2)521.65
(3)518.55 (4) 508.75
(31 None of these

2 127127 =7

1z (2)12% (312"
@1z’ (4) None of these

3. 1222 + 2221 + 221,127

(1) 250.55 (2] 255.50
(3) 250.05 (4) 255.05
(53) None of these

4. 464 - (16 x 2320 =17

(1)12.5 21 14.5
{3 10,5 (4) 8.5

(3) None of these

3. 78=53=05=7

{1)15.6 (2)31.2
(3 7.8 (4)20.4

(3) None of these

&. A bus covers a distance of 2,924 kms. in 43
hours. What is the speed of the bus?

(1)72 kms/hr  (2)60 kms/hr (3) 68 kms/hr

(4) Cannot be determined

{3) None of these

T. If (97 is subtracted from the square of a
number, the answer so obtained is 367. What is the
number?

(1) 36 (2) 28 (342

(4) 48 (3) None of these

8. What would be the simple interest obtained on
an amount of Rs 5,760 at the rate of 6 p.c.pa. after 3
years?

(1) Rs 1,036.80 (2)Rs 1,666.80

(4)Rs 1,063.80 (5) None of these

9. What is 333 times 1317

(1) 46,323 (2) 43,623

(4) 42,957 (3) None of these

10. The product of two successive numbers is
8556. What is the smaller number?

{1)89 294 (390

4)92 (5) None of these

11. The owner of an electronics shop charges his
customer 22% more than the cost price. If a customer

(3} Rs 1,336.80

(343,290

paid Rs 10,980 for a DVD Player, then what was the cost
price of the DVD Player?

(1) Rs 8,000 (2) Bs 8,800

(4) Rs 9,200 (5) Nome of these

12. What would be the compound interest
obtained on an amount of Rs 3,000 at the rate of 8
p.c.paa after 2 years?

(11Rs 501.50  (2) Rs 499.20

(41 Rs 510 (5) None of these

13. What is the least number to be added to 4321
to make it a perfect square?

(1132 (2) 34 (3) 36

(4138 (3) Nome of these

14. 45% of a number is 255.6. What is 25% of that
number?

(1162 (2) 132 (3) 152

(4) 142 (5) None of these

15. Find the average of the following Set of Scores:

221, 231, 441, 359, 665, 525

(1)399 (2) 428 {3) 407

(41415 (3) None of these

16, If (78F is subtracted from the square of the
number, the answer so obtained is 6,460, What is the
number?

(1) 109 (2) 111 (3113

(4115 (3) Mone of these

17. In an examination it is required to get 40% of
the aggregate marks to pass. A student gets 261 marks
and is declared failed by 4% marks. What are the
maximum aggregate marks a student can get?

(1) 700 (2) 730 {3) 745

(4) 765 i5) None of these

18. Pinku, Rinku and Tinku divide an amount of
Rs 4,200 amongst themselves in the ratio of 7 : 8 : 6
respectively. If an amount of Bs 200 is added to each of
their shares, what will be the new respective ratio of
their shares of amount?

(DE:9:6 (2)7:9:5

4)8:9:7 (3) None of these

19. Ms Suchi deposits an amount of Rs 24,000 to
obtain a simple interest at the rate of 14 poepa. for 8
years. What total amount will Ms Suchi get at the end of
8 years?

(1) Rs 52,080  (2) Rs 28,000

(4)Rs 26,880 (3) Mone of these

20. The average of 5 consecutive even numbers A,
B, C, D and E is 52. What is the product of B and E?

(3) Rs 9,500

{3) Rs 495

(317:8:6

{3) Rs 50,880




(1) 2912 12) 2688

(4} 2800 (5) Nome of these

21. The difference between 42% of a number and
28% of the same number is 210. Whar is 59% of that
number?

(1) 630 (2) 885

() 200 (5) None of these

22, What approximate value should come in place
of the guestden mark () in the following gquestion?

4275 486 <217 =7

(1) 3795 (233800

(4} 3875 (5) 39495

23. A canteen requires 112 kgs of wheat for a
week, How many kgs of wheat will it require for 69
days?

(1) 1,204 kgs  {2) 1,401 kgs

(411,014 kgs  (5) Nome of these

24. If an amount of BEs 41910 is distibuted
equally amongst 22 persons. How much amount would
each person get?

(1) Rs 1,905 (2} Rs 2,000

[4)Rs 2,105 (5) None of these

25. The cost of 4 Cell-phones and 7 Digital
cameras is Bs 175,627, What is the cost of § Cell-
phones and 14 Digital cameras?

(1)Rs 251,254 (2)Rs 2,52 627

[4) Cannot be determined

(5) None of these

(3) 3024

(3) 420

(3) 3810

(3) 1,104 kes

{(3)Rs 1,885

(3)2,25,524

Q. 26-30. Each of the guestions below consists of a
guestion and two statements mumbered I and I are
riven below it You have to decide whether the data
provided in the statements are sufficient to answer the
guestion. Read both the statements and give answer:

(1) if the data in Statement I alone are sufficient to
answer the quesdon, while the data in
Statement I alone are not sufficient o answer
the queston.

(2} if the data in Statement T alone are sufficient to
answer the gquestion, while the data in
Statemnent I alone are not sufficient to answer
the quesmon.

(3} if the data in Statement [ alone or in Statement
I alone are sufficient to answer the question.

(4} if the data in both the Statements 1 and I are
not sufficient o answer the gqueston.

(5} if the data in both the Statements I and I
together are necessary to answer the guestion.

2&6. What is the area of the circle?

I Perimeter of the circle is B8 cms.
. Diameter of the circle is 28 ems.

27. What is the rate of interest?

[. Simple interest accrued on an ameount of
Rs 25,000 in two years is less than the
compound interest for the sume period

by Rs 250,
I. Simple interest accrued in 10 years is
equal to the principal.
28. What is the number of trees planted in the
field in rows and columns?
L Mumber of columns is more than the
number of rows by 4.
I. Mumber of trees in each column is an
even number.
29. What 1s the area of the right-angled triangle?
[. Height of the triangle is three-fourth of
the base.
1. Diagonal of the triangle is 5 metres.
39. What is the father's present age?
I Father's present age is five times the
S0N'S present age.
II. Five years ago the father's age was fifteen
times the son's age that time.

(, 31-35.5mdy the following graph carefully to
answer these guesdons:
Profit earned [in Crore Rs) by Seven Companies during

2003-2004
Profit = Income - Expenditure
300
—-a0ld

=

I %
[T

Profit saemnad In Crone i

Coampanies

31. What is the rato between the profit esrned by
Company A in 2004 and the profit earned by Company
B in 2003 respectively?

(1)4:3 ie)3:2

412:3 {5) Nome of these

32. What is the difference (in Crore Bs) between
the total profit earned by Companies E, F and G
together in 2003 and the total profit earned by these
companies in 20047

(1) 70 )75 (3) 78

14) 82 {5) Neme of these

33. What is the ratio between the total profit
eamed by Company C in 2003 and 2004 together and
the total profit earned by Company Ein these two years

(3)3:4

respectively?
(1)11:9 (219:10 (3) 10 : 11
4111 : 1 {5) Nome of these

34. What was the average profit earned by all the
companies in 20037 (In Crore Rs Rounded-Off to two

digits after decimal).

(1) 52.75 (2} 53.86 (3) 52.86




(4) 53.75 {5) None of these

35. Profit earned by Company B in 2004 is what
per cent of the profit earned by the same company in
200037

(1)133.33 (275

(4) 73.25 (5) None of these

{3 6766

0, 36-40. Study the following table carefully to
answer these guestions:

TABLE GIVING PERCENTAGE OF UNEMPLOYED
MALE AND FEMALE YOUTH AND THE
TOTAL POPULATION FOR DIFFERENT STATES
IN 2005 AND 2006

2005 2006
STATE M F T M F T
A 12 15 32 7 B 35
B 8 7 15 | 10 8 20
C 9 10 28 | 10 12 34
D 10 & 24 g b 30
E G B a0 i i 32
F i - 28 8 7 a5

M = Percentage of unemploved Male vouth over total
population
F = Percentage of unemploved Female youth over
tatal population

T = Total population of the State in lakhs

36. What was the total number of unemployed
vouth in State A in 20067

(1) 2,200,000

(3) 5,20,000

(5} None of these

37. How many female youth were unemployed in
State I) in 20057

(1) 14,400

(3 1,40,000

{3} None of these

38. Number of unemploved male vouth in State A
in 2005 was what per centl of the number of
unemployved female vouth in State E in 20067

(1) 66 (2) 50 {3y 200

(4 133 (5) None of these

39. What was the dilference between the number
of unemployved male youth in State F in 2005 and the
number of unemploved male youth in State A in 20067

(1) 70000 123 45,000

(3} 68,000 () 65,000

() None of these

40. What was the respective ratio between
unemploved male vouth in State D in 2005 and the
unemploved male vouth in State D in 20067

(1)1:1 (2)2:3 {3)3:2

44:5 (5) None of these

{21 3,25,000
{4} 5,25,000

12) 1,44,000
{4) 14,000

ANSWERS AND EXPLANATIONS

[ES
23
3.{3) Ans. 255.55
4. (1)
R
6.(3) Speed = ?
Tl x* -9 =567 = x=236
2760 6 x 3
Bl S1L="" = Rsl1036.80
E 100

0.(2) Ans 43623
10014} x(x 41 = 8556 = x =02

11. {5) Ex = 10980 = x — Rs 9000

100
I{ '
8

~3000 |1+ -2 | 1
H'IHJ
13. (5) 65
6 (4321
36 65 < 4321 =< 667
125 721 Reqd. no. =667 — 4321 = 35
625
96
45 100
14.(4) o of X = 255.6 5 X =255.6x

25 100
i T e R P
100~ %25

12.(2) CL=P

= Rs 499,20

16.(3) x* —78° = 6460 = x =112

- = 40 4

17.(5) = o = P owew oy — T35
7.{5) lﬂl‘.lx Eﬁl+mux-&x 25

18.14) Shares of Pinku, Rinku and Tinku in
e
f+8+6

% * 4200 ie. 1400, Rs 1600, Rs 1200

Reqgd. ratio
= (1400 + 200) : (1600 + 200) : (1200+200)
=8:9:7

19.(3) Total Amount

= Rs 24000 +

Rs 4200 are % 4200, % x 4200,

24000 x 14 = B
100
2.4 A + B 4+ C + D + E
XM+ d) + (x+6)+(x+8)
=oxd2=>x=48B= A, B =050
-E=48 + 8 =56
.. BE = 50 x 56 = 2800

= Rs H0880




21.(2)

22.2)

23. (3)

24. (1)
25. (1)

26. (3)

27.(3)

28. (4)
29. (3)

30. (5)

31 (5)
32. (3)
33. (1)
34.(3)
35. (2)
36. (4)
37.(2)
38. (3)
39. (5)

40. (1)

42 Eﬁlﬂéut‘xzzlﬂ::»xzzlﬂx%

= 1500

B T
..lmxIS--SE.J

Use BODMAS

1}1,—": « 69 = 1104 kg
= Reqgd. quantity of wheat

4x +7y = 125627] x 2
- 8Bx + 14y = 251254

88
2ar=88=>r=—
nr r o

N
Either (i) or (i) is reqd.
A = ar
L!Sl:]-—Eh'-'wlilvrillt".l|{]+Ii~'Lj,|2 —Il—ESﬂ{I]xRx:!
or R — x = 100 _
xx 10
From either of statement we can find R

10%

x* r[gx] = = x=4q

L (I
4

.4

1 3 1 . .
Area = E[Jut x;ix] 5 (4 %3) = 6 sq. units
Both (i} and (ii) statements are reqd.
Let son's present age be x
.. Father's present age — 5x
ATSox —5=15x -9 =>x=7
.. Father's present age = 35 yrs

40 1
40 1
Diff = (50 480 + 60) — (40 + 20 + 50) = 80
Rl mfip =20 t00_ 11
40450 9

30 =x%of 40 = x =75

Ans 49000
10 x 24
100 _ 1.
8 x 30 Le
100




English Section

Qs. 1-10, Read the following passage carefully and
answer the questions given below it. Certain words are
printed in bold to help you to locate them while
answering some of the questions.

The window offered a view of the house opposite.
The two families did not speak to each other because
of a property dispute. One day, Ruchira's textbooks
lay untouched as the yvoung girl's gaze was on the hap-
penings in the house opposite. There were two new
faces in the neighbouring household—that of an elder-
Iy widow and a girl, aged sixteen. Sometimes the
elderly lady would sit by the window, doing the young
girl's hair. On other days she was absent.

The new voung neighbour's daily routine could be
seen through the window—she cleaned the rice paddy;
split nuts, put the cushions in the sun to air them. In
the afternoons while the men were all at work some of
the women slept and others plaved cards. The girl sat
on the terrace and read. Sometimes she wrote. One day
there was a hindrance. She was writing when the
elderly woman snatched the unfinished letter from her
hands. Thereafter the girl was not to be seen on the
terrace. Sometimes during the day sounds came from
the house indicating that a massive argument was
going on inside,

A few days passed. One evening Ruchira noticed
the girl standing on the terrace in tears, The evening
prayer was in progress. As she did daily, the girl
bowed several times in prayer. Then she went down-
stairs. That night Ruchira wrote a letter. She went out
and posted it that very instant. But as she lay in bed
that night, she prayved fervently that her offer of
friendship wouldn’t reach its destination. Ruchira then
left for Madhupur and returned when it was time for
college to start. She found the house opposite in dark-
ness, locked. They had left.

When she stepped into her room she found the
desk piled with letters—one had a local stamp on it
with her name and address in unfamiliar handwriting.
She quickly read it. They continued to write to each
other for the next twenty years.

1. Why did Ruchira write a letter to her new neigh-
bour?

(1) She wanted to offer her, her help.

(2) She wanted to be friends with her.

{(3) To apologize for her family's behaviour

towards her family.

(4} To encourage her to continue learning to read
and write,
(5) None of these
2. Which of the following can be said about
Ruchira?
(A) She used to spy on her neighbours because she
didn't trust them.
(B) She was at home because she was studying.
(C) She did not speak to her neighbours because
they did not own property.
(1) None {2) Only B {(3) Both (A) and (B)
{4) Only (C}  (5)Both (A) and (C)
3.How did the new young neighbour spend her
days?
(1) She was busy writing letters to Ruchira.
{2) She used to daydream about her past experi-
ENCes,
3} She would attend to the needs of the widow.
(4) She spent her time leaming to read and write,
(5) None of these
4. Why was the young neighbour prevented from
sitting on the terrace?
(1) She used to while away her time instead of
working.
121 The ald woman could no longer keep an eve on
her.
(3) She had not finished writing the letter she was
asked to.
(4) She has been writing a letter which she wasn't
supposed to.
(5) As a punishment for being disrespectful and
arguing with her elders.
5.What was the major argument in the house
about?
(1) There were too many people living there, which
resulted in arguments.
(2) The young girl was insisting on attending
college,
(3) The young girl had been wasting her time
instead of working.
{(4) The old woman did not guard the young girl
closely.
(5) None of these
&. Which of the following is TRUE in the context
of the passage?
(1) The young girl was very devout and prayed
everyday.




(2) Only two letters were exchanged between the
twao girls,

(3) The new young neighbour was a servant.

{4) The afternoon was a time to relax for everyone.

{5) The two families had fought because of the
letters the two girls wrote to each other,

7. Why did the young girl wish that the letter would

nat reach its destination?

(A} She was going away and would not be able to
see if her neighbour was glad to receive it.

(B) She was afraid that it would lead to a quarrel
between the two families.

(C) She was afraid that her neighbour would be
angry when she received her letter.

(1) None {2) Only (A) {3) Only (C)

(4) Both (B) and (C) (5) Only (B)

Qs. 8-9. Choose the word which is most nearly the
SAME in meaning as the word printed in bold as used in
the passage.

8. hindrance

(1) handicapped

(3) interruption

(5) bar

2. offered

(1) forward

(3) volunteered

(3) put

10. Choose the word which is most OPPOSITE in
meaning of the word piled as used in the passage.

(1) low (2) empty {3) blank

(4) nothing (5) fell

(2) delay
(4) difficult

(2) willing
(4) provided

Os. 11-15. Read each sentence to find out whether
there is amy ervor in it. The error, if any, will be in one
part of the semtence. The number of that part is the
answer. If there is no error, the answer is (5). {Ignore
errors of punctuation, if any.)

11. The price off1) all petroleum products(2) is con-
trolled(3) by the government.(4) No error.(5)

12. There is a(1) tax benefit for(2) the income of(3)
senior citizens.(4) MNo error.(5)

13. In my opinion(1) Vikas has(2) failed to follow(3)
none of the instructions.(4) No error.(3)

14. At least of(l) three per cent of(2) those who
applied(3) will be selected.(4) No error.5)

15. He was a(l)} well known economist(?) who usu-
al wrote(3) for international journals.(4) No error.(5)

(5. 16-20. Which of the phrases (1), (2}, (3) and (4}
given below should replace the phrase given in bold in
the following sentence to make the sentence grammati-
cally meaningful and correct, If the sentence is correct as
it & and no correction s required, mark (3 a5 the
answer.

16. Occupying by many meetings, he did not reach
home till late,

(1) By occupying

{2) While occupied

{3) Occupation of

(4) Occupied with

(5) No correction required

17. We were nervous while the auditor was going
by the accounts.

(1) had gone through

(2) was going over

(3) gone through

(4) went by

{5) No correction required

18. Parents have to take some of this precaution
while allowing their children to use the internet.

(1) each of these precaution

(2) every precautions

{3) all these precautions

(4) any of this precaution

(5) No correction required

19. An emplovee will get the incentive, only if he
deserves it

(1) he himself deserves

(2) they deserving it

{3) he deserved for it

(4) he was deserving

(5) No correction required

20. Sunita has been posted in Chennai, where is
her birthplace,

(1) which is her

(2) that is her

(3) that she has

{4) there is her

{5) No correction required

Qs. 21-25. Rearrange the following six sentences (A),
(B), {CJ, (D}, (E} and (F) in the proper sequence to form a
meaningful paragraph; then answer the questions given
below them.

(A} The ald lady however refused to pay him and
was laken to court.

(B) The doctor, confident of his abilities, agreed.

{C) Finally he cured her after all the valuable furni-
ture had been removed from her house.

(D) He then saw her furniture, realized its value and
decided to delay curing her till he could steal it.

{E) A blind old lady promised to pay the doctor a
large sum of money if she was cured and noth-
ing if she wasn't.

(F) She was asked why she refused to pay by the
judge. “T am not cured. 1 cannot see all my
furniture!” was the reply.

21. Which of the following should be the SIXTH

(LAST} sentence after rearrangement?




(1)B 2)C (3)D

(4)E (5)F

22. Which of the following should be the THIRD
sentence after rearrangement?

(1)B 2cC (3)D

(4)E (5 F

23. Which of the following should be the FIFTH
sentence after rearrangement?

(1)A (2)B (3)C

(4D (5)E

24, Which of the following should be the SECOND
sentence after rearrangement?

(LA (2)B (3)C

4)D (3)E

25. Which of the following should be the FIRST
sentence after rearrangement?

(1B (2 C (3D

(4)E (5 F

Os. 26-30. In each question below a sentence with
four words printed in bold type is given. These are nunt-
bered as (1), (2}, (3) and (4). One of these four words
printed inbold may be either wrongly spell or inappro-
priate in the context of the sentence. Find out the word,
which is wrongly spelt or inappropriate, if any. The num-
ber of that word is vour answer. If all the words printed
in bold are corvectly spelt and also appropriate in the
context of the sentence, mark (5} ie. ‘All Correct’ as your
(THEWEF,

26. There were many ohjectives(l) from emplo-
yees to the proposali2) to amend(3) the regulations.(4)
All correct(s),

27. Since he has provided{l) over halvel2) the
finance for the infrastructure(3) he should be in
charge.(4) All correct(5).

28. The scheme permits(]) investors(2) to buy the
shares from foreign(3) companies at a ficsed.(d) price,
All carrect().

29. A leader who relies{1) on his team members(2)
for advice(3) is respected.(4) All comrectis).

30. He is in complete(]l) agreement(2) with your
analyze(3) of the situation.(4) All correct(5).

Qs. 31-40. In the following passage there are blanks
each of which has been numbered. These numbers are
printed below the passage and against each five words
are suggested one of which fits the Mank appropriately.
Find out the appropriate word in each case.

Most of the employees had no (31] in the oil indus-
try. Employees were paid a (32} salary but they were
loyal and hardworking. They often worked without
breaks—they once worked (33) for 72 hours to dis-
charge oil from a Russian tanker, (34) made the differ-
ence was the support they (35) from their bosses, On
{36) occasions the barrer between boss and subordi-

nate vanished. We all worked like a team and (37) unex-
pected results. The air force (38) presented a letter of
{39) to the company for the work done by us. Thus
these determined (40} poorly paid employvees have built
the company into what it is today,

31. (1) practise (2} contact
(3) discipline (4) experience
(5) knowledge
32. (1) minor 12} low
(3) less (4) cheaper
(5] little
33. (1) continuously (2) fully
(3) running (4) mear
(5) slowly
34. (1) Which (2) They
(3) What (4) There
(5) That
35. (1) showed (2) taken
(3) wanted (4) needed
(5) received
3&. (1) any (2} many
(3) couple (4) regularly
(5) this
37. (1) achieve (2) seen
(3 given (4} comtribute
(5) produced
38. (1)was (2) yet
(3) even (4) instead
(5) still
329, (1)compliment (2) thank
(3) regret (4) appreciation
(5) reward
40. (1) though (2} mot
(3) enough (4) beside
(5) despite
ANSWERS
1.(2) 2.(2) 3.03) 4.14)
5.(5) 6.(1) 7.4) B.1(3)
9.14) 10k (4)

11.(5) No error.

12.(2) ‘tax benefit on'.

13.(4) "any of the instructions’.

14. (1) “At least’.

15.(3) ‘who usually wrote',

16. (4) 17.(2) 18.(3) 19.(5)
200 (1) 2L.{5)F 2.0 23.(DA
24. (2R 25.(4)E

26. (1) ‘objections’

27.12) "half'

28 (4) Tixed'

29.(5) All correct

30. (3) "analysis'

1.4 32.(2) 33.(1) 34.13)
35.(5) 36.(2) 37.(5) 38.(3)
39.(4) 40. (1)




Reasoning Section

1. In a certain code DATE is written as £%%@ and
STYLE is written as *%© 7@ How is DELAY written in
that code?

(1) #&T %2 (2) #E5%E
(4) #5182 {5) None of these

2. In a certain code DETAIL is written as BJMUFE

How is SUBMIT written in that code?
(LYUTWENT () NJUCVT
() UINTWC  (5) None of these

3. If it is possible to make only one meaningful
word from the second, the fourth, the sicth and the
ninth letters of the word PROACTIVE, using each letter
only once, second letter of that word is your answer. If
more than one word can be formed your answer is M
and if no such word can be formed vour answer is N,

(LA (2)E (AT
{4) M (5N

&, How many such pairs of letters are there in
the word FOREHAND each of which have as many
letters between them in the word as they have in the
English alphaber?

(1) Mone (2) One (3) Two
i4) Three (5) More than three

5. Four of the following five are alike in a certain
way and so form a group. Which is the cne that does
not belong to the group?

{1117 (2) 31 (3)23
(4) 13 (3)21

[3) #@E%0

(3) NJUTVC

{3 610, These questions are based on the
following arrangement. Study it carefully and
answer the questions that follow.

TGE#IJ1%LEIKO@AHFEOD2 USR4 %38
6. Four of the following five are alike in a certain

way on the basis of their position in the above
arrangement and so form a group. Which is the one
that does not belong to the group?

(1) m (2)EL3

{4) THB (5) R4%

¥F. What will come in place of the question mark
(7} in the following series based on the above
arrangement?

(3) @9A

6] Sa3 9aH 7
(1) BE2 (2) 7&D (3) TRD
{4) BDZ {5) None of these

8.1f all the vowels are removed from the above
arrangement which element will be sixth o the right
of fourth element from the left?

(19 (21K (33

) @ (5) None of these

9.How many such symbols are there in the
above arrangement each of which is immediately
preceded by a number?

(1) None (2 One (3) Two

{4) Three (5) More than three

10. Which element is fifth to the right of eleventh
from the right end?

(15 (2)U (31

4)3 (5) None of these

@ 11-15. In each question below are three
statements followed by two conclusions numbered |
and IL You have to take the three given statemenis
to be true even if they seem to be at variance from
commonly known facts and then decide which of
the given conclusions logically follows from the
three statements disregarding commonly known
facts. Give answer;

(1} if only conclusion I follows.

{2) if only conclusion 11 follows

(3} if either conclusion [ or conclusion [l follows.

{4) if neither conelusion [ nor conclusion 11

follows.

(5] if both conclusions [ and 11 fol low,

Statemenis:
11. All taps are wells,
Some wells are canals
All canals are rivers.
Conclusions:
I Some rivers are taps
II. Some wells are rivers
Statemenis;
12. Some files are papers.
Some papers are books.
All books are journals.
Conclusions:
. Some papers are journals
II. Some files are journals
Statemenis:
13. Some apples are grapes.
Some grapes are mMangoes.
Mo mango is guava.
Conclusions:
. Some guavasare apples
II. No guava is apple.




Statements:
14. S0me compuiers are screens.
SOME SCreens are movies,
SOMEe Movies are scripts
Conclustons:
[ Some computers are movies.
II. Some screens are scripis
Statements:
18. All pearls are gems.
All gems are diamonds
All corals are gems.
Conclusions:
. All pearls are diamonds
[I. All corals are diamonds,

() 1620, In the following questions symbols @, #,
%, $ and#* are used with different meanings as
follows:
‘A @ B means A is not smaller than B
‘A # B means ‘A is neither smaller than nor equal
o B
‘A% E means ‘A is neither smaller than nor greater
than B
‘A S B means A is not greater than B
‘Ax B means ‘A is neither greater than nor equal to
B
In each of the following questions assuming the
given statements 1o be true, find ouw which of the wo
conclusions I and 11 given below them is/are definitely
true. Give answer,
(1} if only conclusion 1 is true,
(2] if only conclusion I is true.
{3) if either conclusion I or conclusion 1 is true.
(4] if neither conclusion [ nor conclusion IT i% true.
(5] if both conclusions I and 11 are true,
Statements:
16 T@V VM M%F
Conclusions:
L T#M
IL T@F
Statements:
17. L¥N, N=*F R%L
Conclusions:
Il F#R
. R¥N
Statements:
18, H#l @], JSP
Conclusions:
I H#]
IL H¥P
Statements:
19. LxD D#&FK K&§]
Conclusions:
I LK
L DS

Statements:
20, QS W W%RE E@K
Conclusions:
[ Q%K
0oL wakK

1. 21-25. In each of the following questions a
group of letters is given followed by four
combinations of digits and symbols numbered (1), (2),
(3) and (4). The letters are to be coded as per the
scheme and conditions given below. The serial
number of the combination that correctly represents
the group of lettes is your answer, If none of the
comhbinations is correct your answer is (3) ie None of
these,
Letters:
Digit/
Symbolcode 3 7% # 4 §6 9 @ 1 2 5 ©8
Conclusions:

(i) If the first letter in the group is a vowel and
the last letter is a consonant their codes are 1o
be interchanged.

{if) If the first letter in the group is a consonant
and the last letter is a vowel both are to be
coded by the code for vowel

(i) If the first as well as the last letter is a vowel
both are o0 be coded by the code for first

HITERFALEM] B QU

lener.
21. IEHME]
(1h7437T@2 (22437802 (3) 7431 @7
(4) 2437@7  (5) None of these
22. TFIKAR
(1) 45786% (2)457#64 (3) %57 H6%
(4) %36#74 (5) None of these
23. MHEIKO
(N@3@2:T (20 T3@2&1 (3) T3@24@
(4) @3@2#@  (5) None of these
24. FIKIRU
(1) §7#948 (2) 574#545% (3) 878948
(4) 874948 (5) None of these
25. ALFIHE
(1) @ag236 [(2) 695236 [(3) @523
(4) 695823@ (5) Mone of these

3. 26-30. Study the following information
carefully to answer these guestions.

Seven friends K. M, I, H, F, I and C are sitting
around a cirele facing the centre, Lis second 1o the right
of H who is to the immediate right of C. Mis third to the
left of D and to the immediate right of F.

26. Who is third to the left of 'C'?

(1)L (2} K (3} F

) KorF (5) None of these

27. Which of the following pairs of persons
represents the neighbours of K2




(1) 1D (2) FM (3) ML

(4) CH (3) None of these

28. Who is to the immediate right of L?
(K (2)D (3) H
{4y M (3) None of thess

29. Who is second to the right of ‘'C'?
(1) M (2)L (3D
{4) F (5) None of these

30. Which of the lollowing pairs of persons has
the first person sitting to the immediate right of second

person?
(1) DL (2) KF (3)CH
(4) DH (3) None of thess

. 31-35. Study the following information
carefully to answer these gquestions,

Seven friends P, @, B, S, T, U and V are teaching
different subjects Maths, Physics, Biology, English,
History, Psychology and French not necessarily in the
same order. Fach one of them has liking for a different
colour Pink, Green, Blue, Red, Yellow, White and Orange
again not necessarily in the same order.

T teaches Biology and likes Green colour. O teaches

History and he does not like Yellow or Orange. The one
who likes Red teaches physics. P teaches French and
likes Blue. The one who teaches English likes Pink R
teaches Maths and V teaches psychology, U does not
like Red. Maths teacher does not like Yellow,

31. Which colour is liked by V7

(1) Pink {2) White

() Yellow {5) Wone of these

32. Who teaches English?

(1)U (2)S (3} R

(@) Cannot be determined (5) None of these

33. Who likes White?

(3) Orange

(L}R (2)5 (3)u
TR {5) None of these

34. Who likes Orange?

(v (2)S (3R

(4) Cannot be determined (5) Mone of these

35. Which of the following combinations is
definitely correct?

(1) Red—T—Physics

(3) Red—5—Psychology

(3) None of these

{2) Pink—U—English
(4) Yellow—U—RBiclogy

(). 36-40. In each of the questions given below which one of the five answer figures on the right should come
after the problem figures on the left of the sequence were continued?
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ANSWERS AND EXPLANATIONS

1.(1) 16.(1) 17.(3)
z.(2) D_E_'_T &__LI: AILTED hence SUBMIT = MITEUS. The 18.(1) 19.(4)
next letter in alphabet is the code, Le NJUCVT 20.(5) 21.(3)
4. (3) FA and RN, 24.(3) 25.(2)
5. (3) Others are prime numbers. It is divisible by 3 and 7. ' :
b.(3) 7.(4) 8.(1) 9.(5) 10.(2) 26.(2)
11.r0 15. 27.(5) IE E

1. (2) ’IB’ 25.(1) ™ )
29.(3) @
30.(4)
o (LD
P ] |4 5 T U v
13. (2} e.ﬂ.n Fr Hist Maths Phy Bio Eng Psy
o (R
33.(5) 34.(3)

Blue White Orange BRed Green Pink Yellow
35.0(2) 36.01)

37.(2) 38.(1)
39.(2) 40.(1)




